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1. XOEHRORZRD L. (SH17308, Afh24, B3 T2/, CHs55)

(1) 27T, H3,1) %283 (2)  MHE -1, f(-2,5) %2
(3) @?%’G‘, 1.(6,0) %2 4) - %“( (2, —4) M2
(5)  fHE kT, £(0,-3) 2D (6) MHE —tT, H(2,-7) ZH2
(1 y= %m + b 12T, M (6a, —4a) ZHES (8)  y=—max+nlFTT, & (2m, —4m?) @5

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html
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(1) fHE57T, fi(1,4) %2 (2)  fHE —2T, M (-4,3) %5

(3) X — %'C . (12,0) 2382 (4) ft‘ﬁt%%@, (3, -2) 282

(5)  fHE —tT, m(-3,-8) %5 (6) fHZE 20T, (4, —6a) S

(1 y= —%x + b IZFATT, #(—6n,3n) 22 ®) y= %x + b IFATT, M (a,a) 238D
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1. XOEHRORZRD L. (SH17308, Afh24, B3 T2/, CHs55)

* ERAN 1 HE m TH (p,q) ZBEIERDOAIL,
y —q=m(z —p)

(1) 27T, M (3,1) %283 (2)  MHE -1, fi(-2,5) %2
y—1=2(z—3) y—5=—-l{z—(-2)}
y=2x—5 y=—x+3

(3) {kﬁ%%ﬁ 3.(6,0) 2382 (1) BiE -3 k(20 22
y—0=L(z—6) y—(-4)=-2@-2)

1 __3,.3_
y_Ew_z Y= 4x+2 4

__3,_5

vy=74 2

(5) fHE kT, 8(0,-3) 2E3 (6) MHE —tT, M (2,-7) ZH2
y—(=3)=k(z-0) y—(=7)=—t(z-2)
y=kx—3 y=—tex+2t—17

(1 y= %x + b IPATT, M (6a,—4a) Zil 5 (8) y=-mz+nlTPITT, K (2m,—4m?) %l %

* FiT & HEHFLWL * FiT & HEHFELW
y—(—4a) = %(x — 6a) y — (=4m?) = —m(z — 2m)
1 y = —max + 2m? — 4m?
y=—x—3a—4a
2 y = —mz — 2m?
y=—x—Ta
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(1) fHE 57T, M (1,4) %d@3

y—4=5xz—-1)
y=5x—1

(3) fHE — %’C 1 (12,0) %382

y—Oz—%(x—lZ)

1
=——x+3
Y 490-1-

(5) fHE —tT, K (-3,-8) Zili3

y—(=8) = —t{z — (=3)}
y=—tx —3t—8

() y=—Za+bIPATT, 1 (~6n,3n) 22
* FiT & HEHFLWL
y—3n=—{r—(~6n))

y:—%x—4n+3n

=24 n
Y 3
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(2)

(4)

(6)

(8)

HE — 2T, M (—4,3) 25

y—3=-2{z—(-4)}
y=—2x—5

1@%%@, 1 (3,-2) 22

2
y—(=2)=<(2-3)
_2_ _ 6 _
y=5r- 5 2
16

X
g 2o 16
5 5

fHZ 2a T, & (4,—6a) Z# 5
y — (—6a) = 2a(x — 4)

y = 2ax — 8a — 6a
Yy = 2ax — 14a

y= Lo+ bIFATT, ¥ (a,a?) 2382

3
* EiT & EHEHLHFELWL
y—a2:£(x—a)
3
2
_a_ _ a” 2
y—3x 3 +a
_a_ 2a?
vy=73 3
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